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Bellwork!
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Which is the better bet to take? 3 Q0 k3D
You bet $5 and... -§o \‘i 'w—'

- win $20 if a 1 or 3 are rolled
- lose $10 if any other number is roIIed/L:m
0 P
You bet $5 and. %500 % L
-W|n$15|fa1or30r5arero/llgal 1%l 7

- lose $10 if any other number is rolle% \ b

—
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WELCOME!

You'll Need Out:
- Notes
- Calculator
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TRY IT!
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d) .5+ .35= 85

a) P(4) = .15 o) A- 15
P(3) = .35 A
P(2)=.3 o a0
P(1) = .16 5
P(0) = .04 =

b) 0 < P(x) < 1 f) .15(4) + .35(3) +

> P(x) =1 500 - 200
c) 3+.16+.04=5 .04(0) = 2.41
g) value

Nov 30-6:54 AM

TRY IT!

A wheat farmer in Canada finds that his annual profit is $80,000
if the summer weather is typical, $50,000 if the weather is
unusually dry, and $20,000 if there is a severe storm that
destroys much of his crop. Weather bureau records indicate that
the probability is 0.7 of typical weather, 0.2 of unusually dry
weather, and 0.10 of a severe storm. In the next year, let X be
the farmer’s profit.

a) Construct the probability distribution of X.
b) What is the probability that the profit is $50,000 or less?

¢) Find the mean of the probability distribution of X.
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Normal Distribution

The normal distribution is symmetric,
bell-shaped and characterized by its
mean p and standard deviation O.
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Normal Distribution

The normal distribution is the most important distribution-
in statistics:

Many distributions have an approximately normal
distribution (like height and weight, often test

grades)

It approximates many discrete distributions well »

when there are a large number of possible

outcomes /
Many statistical methods use “statistical techniques” for i
normal distributions even when the data are not perfec(I/
bell shaped

)
—
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— Women .(mcan u

545 +o

+~—=Men mean i = 70, std. dev. ¢ = 4.0)

(e U=70 stdev-Y

December 07, 2012

Z65. std. dev. G = 3.
75.5

A 40 D
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997 Probability within 3 Standard Deviations of Mecan

.05 Probability within 2 Standard Deviations of Mean
J68 Probability within | Standard i
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Dec 4-11:19 AM

997 Probability within 3 Standard Deviations of Mean
.95 Probability within 2 Standard Deviations of Mean

68 Probability within 1 Standard

Deviation of Mean
-

o

| Standard | Standard
Deviation Deviation
below IMean abo"t'e Mean
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x=2alsohasa
z-score = 2

x=-2also has a
z-score = -2

December 07, 2012
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